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Match #9


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This man was a member of the Ten Most Wanted list beginning in 1998, following the bombing of an Alabama abortion clinic.  He replaced the falsely-suspected Richard Jewell as the prime suspect in the 1996 Olympic Park bombing in Atlanta, but it was not until 2005 that what fugitive was sentenced to multiple life terms following his arrest in a rural North Carolina town?

ANSWER: Eric Rudolph
2.
This war started with the invasion of Silesia, but the British had to withdraw most of their forces to fight rebellious Scots. At its end, the French returned Madras to the British. The British then returned Louisbourg to the French. Not much was actually changed with the Treaty of Aix-la-Chapelle (ay-lah-shah-pel), signed in 1748. The Pragmatic Sanction of 1713 was the precursor to what war that began along with the reign of Maria Theresa? 

ANSWER: War of the Austrian Succession
3.
Minor characters in this novel include slugger Walt Whambold, psychiatrist Doc Knobb, star Bump Bailey, and bookie Gus Sands. Mid-level characters include sportswriter Max Mercy, manager Pop Fisher, and psychotic fan Harriet Bird. What novel by Bernard Malamud includes Memo Paris and Iris Lemon as love interests of its main character, Roy Hobbs?

ANSWER: The Natural
4.
Its name comes from the Greek for "whole" or "entire" and "recent".  It began following the retreat of glaciers and the mass extinction of large mammals like giant sloths, saber-toothed cats and mammoths, and the end of the Paleolithic Age.  Beginning with the Middle Stone Age and following the Pleistocene is what epoch, the current epoch of geologic history?

ANSWER: Holocene Epoch

5.
Buckminster Fuller used her name to refer to palindromic numbers, and she is the name of Opus 35, a symphonic suite by Nikolai Rimsky-Korsakov. Despite hearing the Tale of the Bull and the Ass, she decides to go ahead with her plan. Her sister, Dunyazad, marries her brother-in-law, Shah Zaman. Who avoids execution by telling her husband, Shahryar, stories with cliffhangers in The Book of the Thousand and One Nights?
ANSWER: Scheherazade (sheh-hay-rah-zahd)
6.
It is caused by protozoan parasites of the genus Plasmodium and its symptoms include fever, shivering, vomiting, anemia, and convulsions.  Drugs used to treat it include proguanil, doxycycline, and quinine.  Name this disease that kills one to three million people per year that is spread by the Anopheles (ah-naw-foh-leez) mosquito.

ANSWER: malaria
7.
His story might be allegory, as his name means ‘Son of the Father’ in Aramaic. While some believe he was a member of the Sicarii, they didn’t form until 50 AD, and he was freed around 30 AD. Matthew calls him a ‘notorious prisoner,’ John calls him a ‘bandit,’ and Mark and Luke both say he was involved in an ‘insurrection.’ When Pilate gave the multitude a choice, they chose to crucify Christ and free what man? 

ANSWER: Jesus Barabbas
8.
He allegedly died when a bird dropped a tortoise on his head. His epitaph doesn’t mention any of the Dionysian festivals he entered, but does mention that he fought at the Battle of Marathon. Fittingly, The Persians is one of his seven plays to survive. What playwright may have written Prometheus Bound, but did write Seven Against Thebes and the three plays of the Oresteia (oh-res-tee-uh)? 

ANSWER: Aeschylus (eh-skuh-lus)
9.
The Janata party was formed more or less in opposition to her and the state of emergency she declared in 1975, when she ruled by decree through President Fakhruddin Ali Ahmed. Her rule included the Smiling Buddha nuclear test and Operation Blue Star, the retaking of the Golden Temple at Amritsar (am-reet-sar). What Indian Prime Minister was assassinated in 1984 by her Sikh bodyguards? 

ANSWER: Indira Gandhi (prompt on ‘Gandhi’)

10.
THIS IS A COMPUTATION QUESTION. What is the slope of a line perpendicular to the line 4x – 24y = 16, given that the product of perpendicular slopes is negative one and that the slope can be determined by dividing all terms by 24 and isolating y? 

ANSWER: -6
11.
This word refers to a type of weightlifting where the lifter puts the barbell at the back of the shoulders and goes from a sitting to a standing position. It can also refer to occupying property without permission, or to someone that is short and wide. What word usually refers to a position where the knees are bent and the rear end is resting on or near the heels? 

ANSWER: squat (accept word forms)

12.
This newspaper started as the Customers’ Afternoon Letter, adopting its current format in 1889. In 2005, it re-launched a weekend edition. It keeps using a unique style of ink dot drawings called ‘hedcuts’ instead of ordinary photographs. Its readers’ average income is $191,000, which cushions the blow of being passed in circulation by USA Today. What newspaper’s editorial freedom will supposedly be kept by Rupert Murdoch?

ANSWER: Wall Street Journal
13.
Bubble Bass once mistook him for a jellybean. When his plans fail, he often says, “I went to college!” His wife, Karen, laughs when she finds out his first name; he then unplugs her, as she is a computer. With his Plan Z, he nearly takes control of Bikini Bottom. The owner of the Chum Bucket is what one-eyed creature that tries to steal the Krabby Patty formula? 

ANSWER: Sheldon J. Plankton
14.
The Door Peninsula juts out into this lake, and islands within it include North and South Manitou Island and Beaver Island. It can be crossed on the ferries SS Badger and the Lake Express. Its northern boundary is usually considered the Mackinac Bridge. It is the largest lake located entirely within one country. The city of Chicago is on the shores of what Great Lake?

ANSWER: Lake Michigan
15.
The Cockcroft-Walton machine was the first to accomplish it; other pioneers in its history are Fritz Strassmann, Enrico Fermi, Otto Hahn, and Lise Meitner.  Fuels for it include uranium 235 and plutonium 239.  It was used in the first atomic bombs.  Name this process in which the atomic nucleus is split into lighter nuclei.

ANSWER: nuclear fission
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
All five then-existing New England states got together in 1814 and 1815 at what meeting where they discussed several Constitutional amendments, but not succession? 

ANSWER: Hartford Convention
1B.
The captain of the whaling ship Pequod was what man who had lost a leg to Moby-Dick?

ANSWER: Captain Ahab
2A.
d4 + 1 (read as: d-4-plus-one) damage for every odd level of the caster is inflicted by what iconic spell of Dungeons & Dragons?

ANSWER: magic missile
2B.
THIS IS A COMPUTATION QUESTION. In lowest terms, what is 5/9 times 3/7 times 7/11?

ANSWER: 5/33
3A.
What international organization practices blockades and demonstrations related to environmental issues, including preventing whaling and nuclear proliferation?

ANSWER: Greenpeace
3B.
Also known as Dan Whitney, what pseudonymed comedian left his day job to become a health inspector in the film of the same name?

ANSWER: Larry the Cable Guy
4A.
THIS IS A COMPUTATION QUESTION. Convert 3/16 into a decimal.

ANSWER: 0.1875
4B.
A carrot is an example of what type of root?

ANSWER: taproot
5A.
Write down the following sentence. (Quizmaster: speak slowly) Some of the people think his prize should be mine, but I did not believe them. (Quizmaster: speak normally) Remembering that ‘his’ is a possessive adjective in this sentence, how many pronouns are in that sentence?

ANSWER: four (Some, mine, I, them)
5B.
What newest uniformed service of the United States was created on September 18, 1947?

ANSWER: US Air Force
6A.
THIS IS A COMPUTATION QUESTION. What number fills in the pattern 2, 5, 11, 23, blank, and 95?

ANSWER: 47
6B.
What sorting algorithm, used mostly as a negative example, is comparable to throwing a deck of cards in the air and then checking to see if they are in order?
ANSWER: Bogosort (accept bozo, blort, stupid, monkey, random, or drunk man sort)
7A.
What halogen has an average atomic mass of 126.9?

ANSWER: iodine
7B.
What dynasty ruled from the collapse of the Sui Dynasty in 618 A.D. until its own collapse in 907 A.D.?

ANSWER: T’ang Dynasty

8A.
A defendant enters a plea at what judicial function at which the charges against him are read formally? 

ANSWER: arraignment
8B.
What two Latin words are used to describe something created on the spot for a specific purpose?

ANSWER: ad hoc
9A.
He lost an eye to the evil god Set after the murder of his father Osiris and gave divinity to the pharaoh. Who is this hawk-headed god of Egyptian myth?

ANSWER: Horus
9B.
What artistic period’s art was encouraged by the Council of Trent and falls between the Mannerist and Rococo periods?

ANSWER: Baroque period

10A.
Morgan le Fay stole the scabbard to what sword, which was itself returned to the Lady of the Lake by King Arthur? 

ANSWER: Excalibur
10B.
What type of conic section is x squared over 25 plus y squared over 49 equals 1?

ANSWER: ellipse
Third period, 15 toss-ups, 10 points each

1.
His tenure saw numerous events, including the Black Monday stock market crash just two months after his installation.  Following September 11, 2001, his decision to lower the funds rate to record lows led to the surge and ultimate collapse of the housing market.  Who is this man, replaced by Ben Bernanke in 2006, who served for 19 years as Chairman of the Federal Reserve Board?

ANSWER: Alan Greenspan
2.
She opposed John F. Kennedy’s Presidential bid, possibly because her husband’s mistresses, Missy LeHand and Lucy Mercer, were both Catholics. She also opposed the ‘Oyster Bay’ branch of her family, as they were all Republicans and she a Democrat. She wrote a syndicated column, ‘My Day,’ and began holding weekly press conferences, something never done by a First Lady. Who was the wife of Franklin Delano Roosevelt?

ANSWER: Eleanor Roosevelt
3.
Tom Cullen said of this fictional character, ‘Jesus knocked him into a herd of pigs once. His name is Legion.’ Despite supposedly dying in a nuclear explosion, he reappeared in The Eyes of the Dragon, and then under a series of aliases before finally being devoured by Mordred Deschain in the last book of The Dark Tower series. What Stephen King villain first appeared to oppose Mother Abigail in The Stand? 

ANSWER: Randall Flagg

4.
In this type of dancing, sets run the entire length of the hall, and each couple will dance with the other couple in their “minor set.” The same steps are repeated, but the ‘1’ couples will move down a spot and the ‘2’ couples up a spot; thus the next iteration will be with new neighbors. What type of folk dancing involves couples lining up in two long lines and following the caller’s instructions, and in no way involves Nicaraguan rebels? 

ANSWER: contra dancing

5.
It is required to complement the Pauli exclusion principle in order to determine the arrangement of an atom’s electron configuration.  Name this rule named after a German physicist that says that the most stable arrangement of electrons in subshells is the one with the greatest number of parallel spins. 

ANSWER: Hund’s rule

6.
Composing the genus Trichechus (try-cheh-chus), it differs in skull shape and tail shape from its closest relative, the dugong.  They are threatened and live in West African rivers, the Amazon, and in the Caribbean and the coast of Florida.  Name this large aquatic mammal also known as the sea cow.

ANSWER: manatee
7.
This herbivore was first classified in 1887 and is very famous despite the fact that no complete skeleton of it has ever been found.  This four-legged dinosaur weighed about six to twelve tons and was about nine meters long and three meters high.  It is the state fossil of South Dakota and lived in the late Cretaceous.  Name this three-horned dinosaur.

ANSWER: triceratops
8.
The author intended this novel as ‘an attack on Nietzsche’s (neet-shuhz) super-man philosophy’ and used several of his real-life experiences on the San Francisco-based ship Sophia Sutherland. The protagonist falls in love and is eventually stranded on an island with the poet Maud Brewster. Humphrey van Weyden deals with the crew of the Ghost and its Captain Larsen in what novel by Jack London? 

ANSWER: The Sea-Wolf
9.
This state was the site of the Port Arthur massacre of 1996 and is located south of the Bass Strait. It was originally named in honor of Anthony van Diemen, is 26,383 square miles, and has a population of 484,700. Its largest city and capital is Hobart. What state of Australia is an island located off of mainland Australia’s southern coast?

ANSWER: Tasmania
10.
The US Navy’s Flight 19 and millionaire yachter Donald Crowhurst are associated with this area. Christopher Columbus even saw “strange dancing lights on the horizon” and noted strange compass readings. A 1952 article in Fate magazine, “Sea Mystery At Our Back Door,” was about what area of the Atlantic Ocean bordered by Miami, Puerto Rico, and the namesake island, notable for strange disappearances?

ANSWER: Bermuda Triangle
11.
By definition, it does not hold in non-Euclidean geometry. It is also known as Euclid’s fifth postulate. It states if a line segment intersects two straight lines forming same-side interior angles that sum to less than 180 degrees, then the two lines will eventually meet. What is this line named for the relationship between two lines that will never meet? 
ANSWER: parallel postulate (accept Euclid’s fifth postulate before it is said)

12.
He was Louis XIV’s court astronomer for 41 years, and used a method of longitude measurement to conduct an accurate survey of France’s size.  Along with Robert Hooke, he discovered Jupiter’s Great Red Spot. Voyager discovered that his namesake feature of Saturn is actually a series of tiny rings. The rings of Saturn have a division, or apparent gap, named for what Italian?

ANSWER: Giovanni Domenico (or Jean-Dominique) (jee-oh-VAH-nee doh-may-NEE-koh or ZHAWN-doh-man-EEK) Cassini (kah-SEE-nee)

13.
For a shepherd, it refers to an enclosure for sheep. For a journalist, being ‘above’ it means a very important news story. However, for a sports team or business, doing it means no longer functioning. For a poker player, it means putting down the cards and giving up. What word means to bend something, like a piece of paper, over itself for easier storage? 

ANSWER: fold (accept word forms)

14.
If one of these is ‘callable,’ the issuer can redeem it ahead of the maturity date. A ‘convertible’ one can be converted into shares of stock. The ‘zero coupon’ variety is bought at a fraction of its par value, and then pays back the par value at maturity. A ‘sovereign’ one is issued by a government, but in another currency. Municipal, corporate, and savings are varieties of what debt instrument issued by a corporation or government? 

ANSWER: bond(s)

15.
Someone threw acid at it in 1956 and later that year, someone else threw a rock at it. It toured the US in 1962 and 1963 and was insured for $100 million. In 1911, Vicenzo (vee-chen-dzoh) Peruggia (pay-rooj-jyah) stole it. In 2005, Dutch researchers determined the figure in it was 83% happy and 9% disgusted; perhaps a smile is just a smile. La Gioconda (jyoh-kawn-dah) is another name for what oil painting by Leonardo da Vinci?

ANSWER: Mona Lisa (accept La Gioconda before it is said)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Early developers of it include Georges Audemars (oh-day-mar), Hilaire (ee-lair) de Charbonnet (shar-boh-nay), Clayton Beadle, Edward Bevan, and Charles Cross.  It is also known as viscose and is processed from cellulose.  Name this manufactured regenerated fiber that is also known as artificial silk.

ANSWER: rayon
2.
It nearly collapsed after World War I, as the four “Home Nations” of the United Kingdom refused to play former enemies. However, Jules Rimet (rih-may) was able to resurrect the organization, even organizing a world championship in 1930. Joseph “Sepp” Blatter is the current president of what group, headquartered in Zurich, Switzerland, that has 208 members and sponsors soccer’s World Cup?

ANSWER: FIFA or Federation of International Football Associations or Fédération Internationale de Football Association
3.
An extended one of these is also called a ‘conceit’ and organizes many objects, as in ‘All the world’s a stage / And all the men and women merely players.’ The sentence, ‘He really carried the load by diving right into the project’ is an example of a mixed one. What trope (troh-pee) is a comparison between two dissimilar objects and does not use ‘like’ or ‘as’? 

ANSWER: metaphor(s)

4.
He is the namesake of a Greek-made armored personnel carrier. The 17th of the Agiad (ah-ghee-ud) line, he ruled with Leotychidas (lee-oh-tee-kih-das). He allegedly said, ‘Come and get them,’ when asked for the weapons of his three hundred men, but was betrayed when Ephialtes (eh-fee-ul-teez) showed a secret trail to the Persians. The leader of Greek forces at Thermopylae (ther-maw-puh-lee) was what King of Sparta? 

ANSWER: Leonidas I 
5.
THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 8 and –4 and bottom row of 12 and 7, remembering that the determinant equals ad minus bc?

ANSWER: 104
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